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@ By Feamay Lttle Thesuom, q"'la'l naodp. Thee P,
P X=(plgee then ’

(p_\)- Q-l— i\

9 = 9

- (q("‘)“-, 9r'
| 9" mod p.
ln othun wods. q”‘ = gx"‘m'“_moi C whew X %lp-)) divstes
the nemcividn whin X or divicled L, (p-1).
Since o a pinitivenoot, the numben g° ¢, -, 6(’
alk cl?\'h‘n& mwu\o P. Wwﬁﬁﬁﬁﬁ%
Thare Bowe

3" =% modp &) ovtue iband only f gtz g0

which i true (¥ and onlg i) ¥ % (p=) = 4% (p~1),
(snte x%\p-1) € 4 (p-1) Dem 00, p2d),

T ae

which i e f and ovly 1 x=y mod (p-1).

@ Let % be su faak 182 38modlDl awd (872 SmodlDl.
Then we feviow:

(18%)% 182 = 18° mod 101
= 185 = (8% medlol

=) Zx+u= 90 wod 100 (1)

(5y polem 1, since 14 & a prim. nodt).
By similan ,Qoq/tc, X+Ly= 13 wod |00 . )
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) y = $1-7x% wod 100 (Hrom (1) (3)

= yw+2(51-2x) =3 madioo (P (2))

=5 -3y% ¥\&Z = \3 wmedl00
=> v % 69=3xwed\l0
=> %2 = x modl00  (since gtd(3.00) =1)

so \X= 23 wpd\00)
~ Thuwa waing (3),
y = $1\-223 med100
['-_4__:-_-1 45 modl0g.

We-&ﬂ& (modwlo 100), % wiat be T3 & 9 wmuat be 45,

since 23 =3wmodY and appan onte in the prive Pacfn_ir)dhou,
43710 o [t a sum el 4o squann]

b) 1885 = 5-3F
=5.13-79.

Al Yhree ofthere primes ane sots.
5=72%|"

‘3_=11+Z"L
29=5"+12t
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we can combing an Pelloun:
513 = (23+1-2) + (22-13)"
= 3°+9°
(5329 = (85+12)+(32-5 i

= L/-!'[" + H"J

Theu ane Yhuc st possible answary: (gou only needed fo giue one) .

513=(23-10) % (2713 | 53=23 A+ et 513 = &7+1°
= "l"- + 7.7- . =Yt ) (&4 h&-podi
(SBV19= (4-5+72) *(#1-5-F) " [SR=(45-12) + (ST sk
= 3"{1 + (’2})‘- = 6 Z+ H-SL (5'13)'293(8'3-'2\1)1 .
; (&t S
= [3atnat / :H*%L | {38 217

(—) W89 = 29.4|. Both mime, an [modd, o thuy are SoTS.

79 = St_l_.Z'L
4 = 5°+yt

= 29-4[ = (5-5+74)" +(54-25)
= (33" 10"

The othey possible soludim o
. 7 L
294l = (55-2:4) +(5-4+7S]

- 1737+ 309
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4) 3185 = 5437
=575 13

5 213 e o, aud T octuns an even numhes o) v,
50 318S o SOTS

5= 25%\"
3= 2°+3°

= 5 R = (TR 31D = F+4"
(or = (T3 (234" = & +1"‘~,>

Th& Pa-LJYU'tbP 7— can b mq*rocfucec[ cmlq }')J ML(HIN‘-fM‘} both
feqrms to be squond hy 7.

G)y3t= (73 (49"
) = 4. 491‘]‘ 2317
The othe possible soludim i (&) (-P"

) =1y

c53t 455 = 726 \704 9
557 = WwodZb  aouwd 55 = 3mdlb, so

JLM.?M"‘D
= — L 2 1
(sﬂ-\wss-%) N (ss‘?-“s-s‘s-y) = U=3" bouo

26 26 26
2] ()" %oy

24+ d(* = 5120499
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dencend again’
241 =2wmodS 4\ 2wl S

0 go to
i £ 2
2411 r 4[| zat1 —41-2\ " 2%
( = )-l- ( = )= = (2045
2S = 180 _
(..5___.) i (?) = 12045

105 +32" = 12043]
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